Cich gii va dap an bai 13 trang 11 SGK toan dai s6 16p 9 tap 1
Dé bai:

Rut gon cdc biéu thirc sau:

a) 2v/a2 — 5a voia < 0.
b) v25a2 + 3a voia = 0.
c) v9at + 3a2,

d) 5v/4a’ - 3a® véia < 0

Dap an:

a) Ta c6: 2v/a? — 5a = 2|a| — 5a

=2.(—a)—5a (Via <0nén|a| = —a)

= —2a — 5a
=(—2—5)a
= —Ta

Vay 2v/a? — 5a = —T7a.
b) Ta c6- v/9a* + 3a® = /9. va* + 3a?
= /3% \/(@®)? + 3a?
= |3|. |@®| + 3a?
= 3a® + 3a’
= (3 + 3)a?
= 6a’.

(Via® >0,V aeR= |a®| =a?)
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c) Ta co: \/W+3a= v25. Va2 + 3a
= /5% la| + 3a
=15|.a+3a , Via>0=|a|=a)
= 5a + 3a
= (5+3)a
= 8a.
d) Ta co:
5\/4a% — 3a® = 5.1/4. /a5 — 3a®
— 5./22. /(a®)? — 3a®
=5.12|.|a®| — 3a®
=5.2.(—a*)—3a® , (Via<0nén|a®| =—a®)
=10.(—a*) — 3a*
= —10a® — 3a®
— (10 — 3)a®
= —13a3.
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